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tructions : | , : ‘ Ok

Geﬂ;’t' Zel ]{o';lsowi " instructions v.ery carefullgll and Strictly fon g
Reu This questio™ paper contains 30 questions. Ay Bl oW thep, -
(z) Thz guesti"n paper is divided into five sections ; io

(ii) In Sectiot A - Questions no. 1 to 12 qre e
questions; carrying I mark each. .

In Section B - Questions no. 13 to 18 are S
carrying 2 marks each. Answers to these que

'S are compulsory.
lionA,B, ¢, D and E.
tple Chojce (MCQ) type

hort Answer
stions shoyly

(iv) (SA) type questions,

, not
-y exceed 50 words

ion C — Questions no. 19 ¢ 23 : |

)  In Section o. 0 23 are Long Answer (r ;
carrying 4 mar. ks each. Answers to these questions shoylq ni)ti)xzfé IqOu;SIfJLOOIZZS ;
each. : ;

i) In Section D — Questions no. 24 to 26 gre Paséage, Car
questions. ' |

(vit) In Section E — Questions no. 27 to 30 are Long Answer (LA) type questions

carrying 6 marks each. Answers to these questions should not exceed 170 words
each. - -

toon and Map-based

(viii). There is no overall choice in the question paper. However, an internal choice

has been provided in few questions. Only one of the choices in such questions
has to be attempted. ' : ‘

In addition to this, separate instructions are given with each section and
question, wherever necessary. i

(ix)

| | SECTIONA
Questions no. 1 to 12 are Multiple Choice (MCQ) type questions, carrying
I mark each. ‘ ; ‘ : : ' 12x1=12

b Whi,ch of these statements about the poll_itical‘ decisions taken after
ndependence related to development are correct ? SR
® Almogt everyone agreed that the developme?n‘? Oiic: 1a shou

_ Tmean both economic growth and social-economic Jui bl.lsines'smen
. ?E was also agreed that this matter cannot be left t0
- dustrialists and farmers. =~ | .
: rowth with
(.111) Only the government should play a key role ¥ ensure &1
) blic
(1V) 3 . ‘08 and get pu
% wag necessary to consult all political part!
Choge. TProval,
, 00se the corr t s )
a) . Orrect op : ' K v
! ((11)1) oand Gi () 0 (TT?)a::d (i)
Slary () ang () @ O 0 pT.O.
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l . Ej
= he followi =l :
not correct ? : :

(a) Itwas drafted by some leading industyialists-
). Tt streSSed on the development of heayy industries.
(¢ Itstime period was 1956 _ g1

d It wanted to bring abhoyt quick structural transformation.

Which among the f°1IOWing is a threat to non-traditional security ?

(a) War

(b) Manufacturing of weapons

(c) Terrorism

(d) Internal disturbances

From the following staterﬁents about India’s Nuclear Policy, choose the

correct statement(s) : SEL |
(1) India’s nuclear progfamﬁle was started in the late 1940s.
i n (
| ' ' d pleaded with the
T , . ot nuclear weapons an |
(i) Nehru was agans =
: comprehensive

t of the NPT at the time of its adoption but its

v nuclear disarmament.
superpowers for ‘

(iii) India was in suppor i
- a
indefinite expansio® P

Choose the correct option -
(a) (@) and (i)
(b)  Only (i)

forced India to change its stand.

©  Only Giij)

@ (), (i) and (iii) o :
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Two statements 27€ BIVen belgy, one | v i ther
¢ labell ; Assertion (A) and the 0
labelled as Reason (R). Reaq these stat elled as Assertion (A) a | rect

eiments carefully and choose the €O
a), (b), (¢) and (d) given below.
became very bureaucratic and
life very difficult for its citizens.

option as the anSWer from the options (

Assertion (A) The SOViet system
authoritarian, making

. The Soviet Unp;
Reason (1) World War.Unlon became a great power after the SeCO'l’ld

(a) "Both Assertion ('A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A). '

(¢)  Assertion (A) is true, but Reason (R) is false.

(d  Assertion (A) is false, but Reason (R) is true.

Two statements are given below — one labelled as Assertion (A) and the other
labelled as Reason (R). Read these statements carefully and choose the correct
option as the answer from the options (a), (b), (c) and (d) given below.

Assertion (A) : There .was a large-scale migration of refugees into India
' “during the 1971 war with Pakistan. o
Reason (R):+ Pakistan had planned the migration to disturb the Indian.

: ‘economy- 4R (R) are true aﬁd Reason (R) i th'
: 5 eason , 1SOon.- 1S the
(a) Both Assertion (A) 3?the Assertion (A). ! , |

correct explanation by ) | .
. , ason (R) are true, but Reason (R) is not
(b) Both Assertion (A) and Rfe‘;h o Assertion (A).

the correct explanation o = : .
()  Assertion (A) Ii)s s ]i,uttﬁizzi(g)lissf{ﬁz :
] 1 false, u L . i
(\;Vi)h ASS(.EI'tIOI'l (A) is id anoff cial visit to India in 1956 ?
b ich I(;I)hlnérse leader P (b). . Zhao Ziyang
a ua Guofeng , *(d) LiPeng
() Zhou Enlai

Arrange the following in ch

@ Splitin Congress party py Indira Gandhi

(i) Imposition of Emerg?n: y
((111\3 I:fth General EIEZ?(])B  hadur Shastri as Prime Minister
PPOintment of

ronological order :

Choose the C()rrect Option : (b) (ii)) (iV),‘ (i), (iii)
((a) (), Gv), (i), (i) @ (), (), Gid), (i)
c) ?

(i)’ (11), ¥ .
5914/ (iii), (iv) page 7 of 23
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9. Which of the following Staten, B s;éi
correct ? ®nts about the ‘Arab Spring are nOt
(i) It began in 2008,
(i) The struggle was agalnst terror1sm and pollutlon
). A ralsed is'voice Aagainst corruptlon and unemplo ent.
(iv) It was basically a demang o, SorSiany. ym
Select the correct option :
“(a) (i) and (iv) only
(b)  (iii) and (iv) only
(c) (i) and (ii) only
(d) (@) and (iii) only
10. A process of exchanging 1nf0rmat10n on defence matters between nations
| on a regular basis is known af .o L '
(a) Confidence-Building Measures
(b)  Arms Control
(c) Alliance
(d) Disarmament s
11. Who became the Prime.Minister of' India after the death of Jawaharla]
Nehruin 1964?
(a) Jagjivan Ram
(b)  Morarji Desai :
(c) Indira Gandhi
(d) Lal Bahadur ShfJlstri
tries is not a member of SAARC ?
12. Which one of the following cot™
(a) India ‘
(b) Nepal
(c) | Sri Lanka '
d) China | page909f? PTo
. 59/4/2 . Sk
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SECTION B .

13.  Give any two arguments €0 Justify Ingjy policy of Non-alignment. 2x1=2

14. Highlight any two functions of UNICEF which make it a significant part

of the United N ations. ox1=2

15. Suggest any two measures to strengthen India’s traditional security. 2x1=2
16. Explain any two reasons for the victory of Congress in the Southern

States in the geperal election of 1977. 2x1=2

2x1=2

17. Evaluate any two functions of NITI Aayog.

18. Why is it necessary for coalition governments to accommodate and

aggregate variety of interests ? Explain. 2
SECTION C
19. “India’s unpress1ve technological 80 owth in recent years has made the
country an attractlve partner of US” SuPPOI't the statement giving any
4x1=
four examples. { } X 1=4
20. Analyse any two 'developmeﬁté of the recent years in Jammu and
. a ys . | , )
‘Kashmir. s 2x2=4
21. “Globalisation has shifted poV‘/" er from nation-states to global consumersg_»
. obali |
: arguments.
Support the statement with tW° 2x2g
fe
22,  What is meant by Veto Power’ 7-Name any Hur countries that enjoy vet,
2*2:4

power. |
g which led to the n]id_ter .
23. Examine any two main reaso” . M electiopy -

India in 1980.

1 of 23 Ao,
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SECTION D
2. In the given political outline map of India (on page 15), four State
have been marked as @), ‘ © and D). Identify these States on the
basis of information given below and write their correct names in yoy;
' answer-book along with the respective seria] number of the informatiop
used and the concerned alphabets given in the map as per the following
format ; 4x]
(1) The State related to V.V. Giri, the former President of India,
(i) The State related to the Congress leader, K. Kamarsaj.
(iii) The State from where the phrase “Aya Ram, Gaya Ram”
' ~ originated.
(iv)  The State which faced the most acute food crisis in 1965 — 1967.
F\ .
Sr. no. _of the Concerned alphabet Name of the
informatloh used in the map State
G _ _ 7
(i) ’ | _ 7
—_-K
(1) : - . ]
7_—_\
(iv) | /
L |
59/4/2 Page 14 of 23
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For question no. 24
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Note:  The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 24. ‘ 4x1=4

(24.1) Name the State related to the forrﬁer President of India, V.V.

Giri.
(24.2)

Name the State to which the Congress leader K. Kamaraj
belonged.

(24.3) Name the State from where the famous phrase

“Aya Ram, Gaya
Ram” originated.

(24.4)  Which State faced the most acute food crisis in 1965 — 67 2

25.  Study the given picture and answer the questions that follow : dx1=4

(i)  The given picture belongs t0 which one of the f0110Wing Countrigg 9
(a) Myanmar | (b) Nepal
(¢)  Bangladesh @ 8 Lanka

(ii)  The memorial shown in the picture is located at Which opg of th
following places ? ‘ :
(a) Shant‘iniketan‘ & Calcutta Universi‘ty
()  Burma University (@) Dhaka Universit

59/4/ page 17 0 23
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(ii)  When did the incident related to the picture happen ?
(a) 1950 (b) 1975 |
(c) 1982 (d) 1987

(iv)

Which military ruler was the cauge for this memorial ?
(a)  General Musharraf

(b) Lt.General H.M. Ershad
() Ziaur Rahman :

(d) Zia-ul-Haq
Note: The following questions are for the Visually

S Impaired Candidates
only, in lieu of Q. No. 25.

dx1=4

(25.1) Which country is Bhutan’s biggéét source of developmental aid ?

- () UsA e (b) Russia
(0 India | (@ . China
(25.2) A landlocked country of South Asia is :
(a) Maldives (b)  Bangladesh
(¢) Nepal | - (d Pakistan

(25.3) In East Pakistan, the popﬁlaf‘ struggle against the dominat; s
West Pakistan was led by which one of the following leagers ?

(a) Sheikh Mujibur Rahmaﬁ
(b) Sheikh Mujib Mohammed
(¢) General Yahya khan I
(d) Lt. General HM. Ershad
(25.4) The Seven Party Alliance is related to which country ?
(b) Nepal

(a) Bhutan ‘
(d) Pakistan

(e) India
Page 19 of 23
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26.

Jammu and Kashmir

(i)  Which o,
_ one of the following Princely States wg t'h
- W98 the fipgt
U to

d e
India ? - 1ot to join the Uniop f

(d)
(0 Why was the Muslim League formed ?
(a)

To Propose “bwo.nation theory’

(b)  To form g new pation named Pakistan
(©) To prepare the constit™*" of Pakistan

(@) To protect the jnterest ° ¢ MUSHMS in coloniy) Ing;
a

59 f 23
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(iv)  What wasg the stand of the T
partition ?

(&) It was against partitioq

(b) Tt wanted peace, harmony and equality of religion.

(¢) It wanted India to become 5 Hindu nation. °

(d) ?t was in favour of treating people oﬁ religious basis.
| SECTION E

27. (a) Highlight any three environmenta] concerns significant to global
politics, 3x2=6
OR
(b)

Highlight any three international_ environmental movements and

their importance. 3IxX2=6

28. (a) Evaluate the ‘role of ASEAN in the contemporary _woﬂd. ' 6
. i ' : ‘

(b) “In spite of the improvement in the Chinese economy, not everyone

in China has received the benefits of économic reforpg

]

" Support,
the statement.with three argqm'ents. | Sx2eg
29. (a) Analyse the objectives of the “Operation Iragi Freedom” and ite
outcomes. 3436
OR
(b) Analyse any three consequences 9f the collapse of the Soyies
| Union. : , 3><2=é
30. (a) Highlight any three major developments that took place ip, Tad.
" polities during NDA IIT and NDA IV. | ‘la;l
OR g Tl 3 X2=6

(). Highlight any three points of cOnSeNsUS that emepyg amﬁng Mmost
political parties in India after the Lok Sabha Elec‘%ions, 2004 b

| 3x2L
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